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ind the number of seconds in a year and write the answer in standard form.
n.+ Aballis thrown upward with an initial speed of Smfs What will be its speed when it |
- returns to starting point. ' . |
il State Newton's First and second laws of motion.
iv.  Define rolling friction. Write methods of reduciné friction.
v, Canasmal force ever .-:xcﬁ a greater tnrque.than a larger fﬂrcu'li' Explain.
vi. - Does Newton's law of Gravitaﬁuﬁ obay Newton's third law .oI' motion? If Yes, then how? , 3

vil. . Why for same height larger and smaller satc.ite must have same orbital speed?

vill. A 60g bullet is fired from a gun with 3150 of kinetic energy. Find its veloci FON /
E. in desert

IX. 'Explainhnwanﬂwhycmnelshav:tﬂ' ey @%@@l
conditions. o @ st : :

body is 37, Find this temperature on the Fahrenheit

Xi.  Why bums caused by steam at 100% on the skin are often more severe than burms caused

by water at 1007

SECTION“C" ' Marks: 21
Note: Attempt any THREE questions of the following. Each question carries equal Marks,

L (a) Derive the following equatfuns of motion graphically.
© ) Sttt i) 2as=vf-vi? |
(b) A car of mass 1000kg is running on a circular motorway interchange near swabi with a
velocity of 80ms™ the radius of the circular motor way interchange is 800m. How much
centripetal force is required. . e

| 3
IV, " (a) State and explain the conditions for complete equilibrium. ' m 458
~ (b) At which altitude above earth's surface would the gravitaf: E@@ §*
; \a bod .‘ ' t locity VisK.E=Yamv. 4
R q to ﬁ 5m in 10s, how much power Is =

" (b) An elevatp ! -
developed? %\ . 3
VI arto $‘l- works on the Pascal’s principal? Explain. - :

) How much heat is required to increase the temperature of 0.5kg of water from 108 to 65¢.
(Specific heat capacity of water is 4190JKg™ K!) d <3
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